
Landing gear Backyard series

Kit contents:

Landing gear
2x Wheel pant
2x Pant brace
2x Landing gear reinforcement
2x Wheel
2x Screw M2
4x Nut M2



1. 2.

3.

5.

7.

9.

4.

6.

8.

10.

Tape

Drill o 2

4 mm

100mm30mm

6mm6mm 6mm6mm

Tape



11.

13.

15.

17.

19.

12.

14.

16.

18.

20.

Thin CA

Medium CA

Activator

L+R

L+R

L+R



21.

23.

25.

27.

29.

22.

24.

28.

30.

26.

Medium CA

Activator

Drill o 2

L+R

L+R

L+R

2x Screw M2x16
4x Nut M2

1
2
3

1

3
2

1

1

2 1

2



31.

33.

35.

37.

39.

32.

34.

36.

38.

40.

Medium CA

Activator

Activator

Medium CA

12
3

3

12

12



Carbon 1x 80
 (The rest of elevator 
   pushrod)

41.

43.

42.

44.

Thin CA

Sandpaper

45.


	Stránka 1
	Stránka 2
	Stránka 3
	Stránka 4
	Stránka 5
	Stránka 6

